Assessment Scheme

For Biology 10™ Part II Session 2012-14 & ONWARD

Time: 03:00 hrs

Total Marks:- 75

M.C.Qs Short Answer Questions Essay Type Questions Questions relating to
Practicals
Allotted Marks 12 Allotted Marks 32 Allotted Marks 21 Allotted Marks 10

Q. to be asked 12

Q. to be asked 25

Q. to be asked 5
Q. to be attempted 3

Q. to be asked 3
O. to be attempted 2

Sr. . Distribution Q. to be attempted 12 Q. to be attempted 16
No Chapters Weightage of Mubks
Time 15 Minutes Time 2 Hours & 45 Minutes
Total Total Total
> 2 A Marks 5 & % Marks ol o 4 Marks
| | Gaseous 11 % 11 - 1 - 1 1 1 6 s ' ] 4
Exchange
2 | Homeostasis 11 % 10 1 - 2 1 2 B 6 4 - ' 3
Coordination and 13 % 12 - 1 1 2 2 1 - 6 1 - - 4
3 Control 2
4 Support and 10 % 10 1 - - 1 s - 6 - ' ¥ 3 Question No.10 =15 Marks
Locomotion
5 | Reproduction 13 % 13 1 1 - 2 1 - 4 ‘s - T 94
6 | Inheritance 12 % 12 s 1 1 2 1 1 6 . A x 4
- | Man and his 10 % 10 1 - - 1 1 1 6 ; e | P 3
environment
8 | Biotechnology 12 % 11 1 - - 1 2 1 - 6 = ' : 4
9 | Pharmacology 8% 8 1 - - 1 1 - 4 'y - i 3
Total 100% 97+15 12 50 35 15

Important Note:- 1) K= Knowledge.
2) This scheme of Assessment is prepared as per 33% choice in short answer questions, essay questions & questions relating to practicals.
3) In order to promote the cause of concept based learning at least 10 % questions must be unseen or of daily life but relating to specified learning outcomes of Curricula &

Syllabi. This portion will increase @ 10% annually but not more than 30%.

4) The questions relating to practical will be asked from the practical Note Book as per chapter were detail given in the curriculum and syllabi 2006.

U= Understanding / Comprehension.

5) The Practical will be conducted at the end of 10" Class which is mandatory to qualify for award of certificate.
The Practical assessment will be made in the form of grading as per following criteria.
A+=90% & above, A=80% to 89%, B=70% to 79%, C=60% to 69%, D=50% to 59%, E= 40% to 49%, F= Fail = Below 40%

A= Application & Analysis.




Note: This is Model Paper only for guidance of students & teachers.
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill
that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles
will result in zero mark in that question.
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Which of the following respiratory disorders is

caused by bacteria
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In which of the following actions impulses are

not carried to the brain
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Which of the following tissues join the

muscles to the bones
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In which of the following asexual reproduction

methods an organism divides into two
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Which of the following structures present in

the pollen tube after pollination
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If the genetype of a plant is Rr Yy, how many

types of gamets can be formed ?
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Massenger RNA is produced by the process
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An example of exoparasite is
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Which of the following is an antiviral protein
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Cytoplasm Cell wall Cell Cephalosporins is a group of antibiotics.
membrane | Which part of bacterial cell is destroyed by

these antibiotics.
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2. Attempt any Six parts from the followings:- (6x2=12) -q)};’.;gmélmgr_&fc, S J.J Ln -2
(i) Write four symptoms of respiratory disorder _ufvaszg u( P o‘"fl Sk d/ J]L« (i)
Amphysema.
(i) What is trachea? Describe its sructure. Sk SUrt g L )
(iif) How passive smoking can be injurious to health? S0 b c}ng"ﬁmg (iii)
(iv) Differentiate between osmoregulation and ‘."a J/' t[uf.' f-”f;r}»lﬂf/ﬁl (iv)
thermoregulation.
(v) How hydrophytes get rid of excess of water from (V4 2.5 4/ o4l &gﬂﬁc_ f) ‘g—’d’:‘/ bkl (v)
their body? Give one example.
(vi) What is lithotripsy method of removing stones from fe Vi P62 68 e unt i)
kidneys?
(vii) How ears maintain the balance of body? Ut o, (/’G'd“/u/'l? t{,/'uK (vii)
(viii) From where thyroxin harmone is secreted and what s t’/r(l[, sle B U ur o de (viii)
is its function?
(ix) What is paralysis? Write its two causes. -uf’dagﬁ; 3] J <ol l[:_, éG (ix)
3. Attempt any Five parts from the followings:- (5x2=10) 4)_’/’://’.:4'?.2:!% égc.(jfe_dd_‘: &n <3
(i) Write the names of bones of human appendicular ‘uf‘irté Ugh s é_lg&g S u?ﬁ/’:{i';!éuu! (i)
skeleton.

(i) What are tendons? What is their role in the body? Sebwr 6 Wl o G (i)

(i) How osteo arthritis is different from rheumotoid % A ) 0 u"‘f/l/?/"i‘étz/ AT i)
arthritis?

(iv) What are endospores? Write names of two types of 2 _ % o/ u:"irt‘ Sk L (;’ 0 Sy e dmesld (V)
bacteria which forms such spores. Ut

(v) How new plants are produced by grafting? Give one (/> J& LI b & I ‘:_ré-){ Lot S (v)

example.

(vi) Define alleles. Give one example. g Jffug_q/lg/%/% (vi)
(vii) What will genotype and phenotype of plants g LM A kL sl K sy L 1E JI bt N (vii)
produced as a result of cross between a true breed » l[.,,z’ 54 ol < (o J Uy Lyiw L p b y/ gﬂ/ &
round seeded plant and true breed wrinkled seeded ‘.’gf

plant?
(viii) Describe two main sources of variations in -q/ Yk éus‘.z »L.;l/:'""u.‘.' d;gf (viii)
population.
4. Attempt any Five parts from the followings:- (6x2=12) -q/{,‘l-,gw:lz: é‘t’ :-Jfa, u.‘.J,’,J G -4
(i) Explain the limits of biosphere. q/yu, d/;m J/’.”’;fl, (i)

(i) Draw a diagram to represent food web and write ¢t L Usiil JE U U1l SuFd L SR 3 i)

names of organisms in it. -u..“‘(
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(iii) Differntiate between Ammonification and _Q/fjb I (ﬂ?d/‘«tul u’:*ddrl (iii) ;/

Nitrification.

(iv) Define rmentation. Write names of its two types. _u‘fﬁ'térlﬁlu J J1l W’ .,yfd/ gﬁy/ (iv)

(v) By which bacteria formic acid is produced? Write = U154 L9 S b U b = | 26 S )
two uses of formic acid. : -u:"a

(vi) What is recombinent D.N.A and how it is produced? fe bl b c}‘/,»!ug é'féz_!_w_(ﬁ .w'u’,{d/ (vi)

(vii) Why vaccines are used? Write names of two /g; gL @u..“"//rl: L Uy Ut db S U uf..//fg; (vii)
diseases for which vaccines are used. Ut (3/;' Jl.x"’!

(viii) What is Marijuana? Describe its two effects. Qe N E N P 2SS (i)

Part II (2 -~
Attempt any Three Questions (7x3=21) -u:/://“:atb’ﬁ @Ulfu.‘::— Jf Y

5. (a) Explain two methods by which plants exchange ts s> Kurfu.‘.' Uy U uzu_f.wt.'u Susloui() 8

their gases. [4] -<
(b) How halophytes maintain the balance of salts in 14 &, ft?d:u)l}’ Kl ()"%I Wadl ()
their body? [3]
6. (a) Describe the structure of neuron. [4] _Q/uy. estdung () -6
(b) Explain three types of Arthritis. [3] S molos Ju’f’:l/”ﬂfé (:’uf (&)

7. (a) Describe the changes which take place from s lw FE gy ASL o uifd{j Uy A (D) 7

pollination to the formation of embryo in a flowering _q/ Jk ug&,«;
plant. [4]
(b) Explain the process of spermatogenesis in _q/ ol J":'."W}.‘:‘/,',u.‘! Ut ()
animals. [3]

8. (a) Explain Mendel's law of independent assortment w2los § bt woky G4 STo0 Sl e e UG (LD -8
with an example. [4] _u:/
(b) Compare Parasitism to that of Mutualism. Give /> J& {1 §kl s 2l (e breilg (&)

one example of each. [31]

9. (a) What s single cell protein. how it is produced  Uisle tb U Mo e le dn Wby JF B (LD 9
and what is its importance? [4] fe =l

(b) What are antiboitics? Explain its two types.[ 3 ] U oo Jrlﬁl» Sut \0/4 st gfw?jt hd ()



Part i (Practical Part) (v
Attempt any two Questions (5x2=10) -QJ({;@U:?:C e llyne J:( Y
10. (i) (a) Write the procedure for the experiment ST sl 1 s gL S () -10

showing presence of carbon dioxode in the _uf‘z(.'a:g FEE &;T, /‘i& &. L 14k diem,(

exhailed air. [3]
(b) Which compound is formed when carbon L uf?+ Che 2T 313 o d& Bl vt (ipe)
dioxide is added to lime water. [2] e U 23yl
(ii) (a) Draw a labelled diagram for Binary fission in ¢t £ Us®L 1 sl o P A L (D (i)
Amoeba. [3] -u.‘.“‘a
(b) Differentiate between Budding and Binary -Q/u.lf,j/'u: u"‘u’ﬁ’g 155 ()

fission. [2]

(iii) (a) Write the procedure of stem cutting in rose -J.‘f’qm,/’ ¥ & (Stem) (e’u.f &y L B () (i)
plant. [3] _
(b) Name two such plants (except rose) in which #5 § ¢ (/> J& Juu,;' s Of mibde e o

vegetative propagation is carried out by stem —e b ey p B (Stem)(" 7 cﬁ‘%{
cutting. [2]




